= o
A £ O & AF &2 F Ml A
20158 = S0la LB 2EAHF
SN BAE Y
MY & g2 PAARNUIA 2E
Selr RABZAHIA MB EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SAHF N 54,271,427 55,751,609 A 1,480,182
= 16,433,007
J| 23,389,990
< 14,448,430
2 =2 BHYZ ML 25 54,094,027 55,578,097 A 1,484,070
= 16,433,007
J| 23,389,990
< 14,271,030
SAHIMHA HS 5,311,280 16,482,608 211,171,328
= 3,340,489
J| 142,100
< 1,828,691
AN HE=EH 16,300 17,111 A811
201 Let24d] 8,000 8,000 0
01 At 22/l 8,000 8,000 0
OEHAF 20 SAEHHEA 2 8,000
202 o4dl 5,450 6,261 A811
01 = LH o4 1l 5,450 6,261 A811
OFHdE MHIAML R2F2 5,450
203 YR =2t 2,850 2,850 0
03 Al =AY 2= 2,850 2,850 0
ORAUFL2 X 2,850
SHEEHL 8 AU F(s5) 3,716,945 14,320,611 A 10,603,666
= 2,973,556
< 743,389
403 XA SA=0l& 3,716,945 14,245,611 A 10,528,666
= 2,973,556
< 743,389
01 HXSHMA=E X 3,716,945 14,245,611 A 10,528,666
OsHEd= M2 XA 3,716,945
= 2,973,556
< 743,389
SSEHI 2 2N 5,250 5,016 234
201 L4l 5,250 5,016 234
01 At 2t 2l 5,250 5,016 234
OZ3EB2)0|& d20&EN=R 5,250
SSEHIA 2l 35,500 35,225 275
201 Let2dE] 5,500 5,225 275
01 At 22l 5,500 5,225 275
OZBSEHYAMN HARU=S 5,500
308 MtXIEHMSOIH 30,000 30,000 0




2N

M A g2 PAARMHA 7E
el BHHFIMHIA MBS (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
10 JIEtRE 3 30,000 30,000 0
OS2 AN HRUW=H RE=S 30,000
gadae ¥ SHFUAS 1,138,540 731,792 406,748
= 366,933
= 771,607
201 Let24dy] 888, 140 551,792 336,348
= 320,000
< 568,140
01 At 22/l 53,100 52,050 1,050
Ogaud ze| 53,100
02 =224l 835,040 499,742 335,298
Os&dl S 343,040
Og& & U-ChartAl A8 FAE=> 12,000
Oogasd =el 480,000
= 320,000
< 160,000
206 M= Hl 180,000 180,000 0
01 24l 180,000 180,000 0
OYeForZ qUuZH S 180,000
405 XHoHF S HI 70,400 0 70,400
= 46,933
= 23,467
01 XL 2 Z FH S| 70,400 0 70,400
OgaH &ix=s88 AX 70,400
= 46,933
< 23,467
AZAAE A FHF 175,000 162,000 13,000
| 40,000
< 135,000
201 L2l 75,000 75,000 0
02 22224l 75,000 75,000 0
OJAIMNZAIAE SXNES 75,000
308 XXl EHHSOIA 100,000 87,000 13,000
| 40,000
< 60,000
01 IXNHHMEBANEES 100,000 87,000 13,000
OJAJUTZAAY 28 22 X2 60,000
OU-health ¢lZet x5 2% XN 40,000
| 40,000
BRI EEESRY NS 13,980 8,338 5,642
308 AXIEH S0l A 13,980 8,338 5,642
01 IXNHHMBANEES 13,980 8,338 5,642




2N

MY & g2 PAARNUIA 2E
&S EHHFIMHA MBS (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OIS IESRE BExu=s 13,980
o= 2 82,140 55,140 27,000
308 XX EHH SOl A 82,140 55,140 27,000
01 AXHHILEES 82,140 55,140 27,000
O=clite =X2AHM 2 XA 82,140
AU MEXJHEH ALY 127,625 1,147,375 A 1,019,750
J| 102,100
< 25,525
403 A X EHHSH20IA 127,625 1,147,375 A 1,019,750
J| 102,100
< 25,525
01 XM A= E L 127,625 1,147,375 A 1,019,750
OALYMHEXZEME EXXH 127,625
J| 102,100
< 25,525
oY ZgdEueg el 12,533,793 6,571,206 5,962,587
= 254,217
J| 9,119,300
< 3,160,276
=2 E S A A 10,444,733 4,872,361 5,572,372
J| 8,066,088
< 2,378,645
101 @124 dl 21,556 21,556 0
J| 10,778
< 10,778
0412t Z2XREE+ 21,556 21,556 0
OgEsE sSdH 22(%) 21,556
J| 10,778
< 10,778
301 LAz 12,204 12,204 0
J| 12,204
MIEE43 12,204 12,204 0
OULES= 0laEES It A2 25X 12,204
J| 12,204
308 XX EHSOIA 10,410,973 4,838,601 5,572,372
J| 8,043,106
< 2,367,867
01 HIXNHMBNEES 10,410,973 4,838,601 5,572,372
Oko HEES 1,907,490
J| 1,467,300
< 440,190
OBE 2t =402 Ol YAt RI& 50,004
J| 33,336
< 16,668
OHYEE sE4dH 2ZXE 172,440




SN BAVE D
M A =2 BAOYS AHIA 2H
Sl g U AHHH YL (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Pl 172,440
Ol HEEs 8,281,039
J| 6,370,030
= 1,911,009
2 HEE ASHE A} 3,300 6,300 A 3,000
= 3,300
201 Bt A H| 800 800 0
= 800
01 AtR 22l ] 800 800 0
OYs A2 XS D= 800
= 800
202 04t 2,500 3,000 A 500
= 2,500
01 2L Y] 2,500 3,000 A 500
OLGEE AstEX AL (4] 1,500
= 1,500
OY& XA ASsSWE 0l 1,000
= 1,000
S823Y 22 10,000 10,000 0
= 5,000
= 5,000
301 Bt A= 10,000 10,000 0
= 5,000
= 5,000
01 M BEEE2G2 10,000 10,000 0
OM1Z 2=H&EXt ALl X =l 10,000
= 5,000
& 5,000
oflolx & dgolet 170,066 170,066 0
Jl 108,028
[ 62,038
307 QI2t01 ™ 30,000 30,000 0
02 Q2B AMAIEE =X 30,000 30,000 0
odol=ogu=x - 2 (dlol=0egEs) 18,000
OuoI=0gws - E2 (MO0 XE X HNY) 12,000
308 AXISHXMSOIHA 140,066 140,066 0
Dl 108,028
= 32,038
01 HXHHNBIMNEXTZ 140,066 140,066 0
oolol=& X &= H| 93,470
J| 71,900
o= 21,570
ORI Al X 9,926
Dl 7,636
< 2,290




SN BAVH D
PN

MY & g2 PAARNUIA 2E
SRl e o Ao CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Oulol =& e Al K& 35,440
J| 27,262
< 8,178
ONoI=ZEAS=EHI XA 1,230
| 1,230
MEBH SHHE L 2l 8,624 8,764 A 140
| 6,160
< 2,464
201 L2l 1,760 1,900 A 140
| 880
S 880
03 A2 Z Hl 1,760 1,900 A 140
OMEHE tHE s = 1,760
J| 880
< 880
308 XtXIEHHSOIA 6,864 6,864 0
| 5,280
< 1,584
01 AXNHHMBAMNEES 6,864 6,864 0
OMEH 05 ZAHA 29 6,864
| 5,280
< 1,584
SARS S MES2SYE HH 14,700 13,074 1,626
| 7,350
< 7,350
201 €2l 12,000 10,374 1,626
J| 6,000
< 6,000
03 A2 Z Hl 12,000 10,374 1,626
OdlE 2gY o122 tissd 12,000
| 6,000
< 6,000
307 glz2+ol & 2,700 0 2,700
| 1,350
< 1,350
02 YAFHAANPEE 2,700 0 2,700
O S LLLAMA 2 2,700
| 1,350
< 1,350
StAHE X2 XF BAEXD 256,577 237,581 18,996
= 81,105
= 175,472
307 21201 A 146,000 146,000 0
02 It S AHE L 9,000 9,000 0
ORYBHYST A5 L O S 6,000




SN BAE Y
MY & g2 PAARNUIA 2E
SRl e o Ao CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O&=stdlel M=CHal &It 3,000
05 BIZERI & 3 137,000 137,000 0
Ostdlg 2te] Z ALY 100,000
OStMg &t MEAE K& 37,000
308 XtXIEHHSOIA 110,577 91,581 18,996
= 81,105
< 29,472
01 X HHILEEXS 110,577 91,581 18,996
OMOtetdlol MAHHl X 87,578
= 67,368
< 20,210
Ostdld 2H0|LZAIE 29 17,858
= 13,737
< 4,121
Ogtulg &t M=z K& 5,141
st S A2t XI& HEEX 24,000 24,000 0
403 MHXSHHSA=0l& 24,000 24,000 0
01 HXESHMA=E X 24,000 24,000 0
Ostdlg &I FaE 2948 XA 24,000
Sl QI T o Ab24 T oH A+ A & X & 113,400 175,860 A 62,460
= 113,400
308 XXM SO0 A 113,400 175,860 A 62,460
= 113,400
01 IXNHHBNEES 113,400 175,860 A 62,460
OSHMIOIT|IcH At TIGH A ME X2 113,400
= 113,400
FeJgY Z=22A 35,599 26,637 8,962
= 21,730
< 13,869
101 14l 21,000 18,584 2,416
= 10,500
< 10,500
03 RIAHA2 2 RHE > 21,000 0 21,000
O2gY ZAEXH o2y 21,000
= 10,500
< 10,500
308 XXM SO0 14,599 8,053 6,546
= 11,230
< 3,369
01 HIXNHHNBMNELS 14,599 8,053 6,546
OFZdgY H22ZAAY 29X& 10,179
= 7,830
< 2,349
OZgd 222A 2%t 4,420




SH HAME DY
MY & g2 PAARNUIA 2E
SRl e o Ao CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 3,400
= 1,020
o= & MY AgA XC 8,580 8,580 0
J| 6,600
& 1,980
308 XHXIGH SO0l & 8,580 8,580 0
J| 6,600
& 1,980
01 AIKSHHENMNEXZ 8,580 8,580 0
OMBAEA X A2TY T 8,580
J| 6,600
o= 1,980
AU ZAN NS (LELEE ol 22]) 89,100 62, 100 27,000
J| 27,000
= 62,100
308 MXISHHMSOIA 89,100 62, 100 27,000
J| 27,000
= 62,100
01 IIXHHIMNEEXTZ 89,100 62,100 27,000
OLdMES 2 (BSZCIAIE I 2) 35,100
J| 27,000
o=t 8,100
OgdHdas o2ty K& 54,000
2y gtodor®E ol 9 (gets e 68,000 50,000 18,000
206 M = dl 50,000 50,000 0
01 X2 Hl 50,000 50,000 0
O2Yy grodorz ol 50,000
403 XX SRS K20 & 18,000 0 18,000
01 XS A2E X 18,000 0 18,000
O&g e gt &y X& 18,000
=20 & 1,094,300 715,367 378,933
J| 770,324
= 323,976
101 Q124 H| 28,000 28,880 A 880
J| 14,000
== 14,000
04 JI2ZtHIZ22NEE S 28,000 28,880 A 880
Z2SHME2ES AF Q124 | 28,000
J| 14,000
= 14,000
201 et 9| 20,000 0 20,000
J| 10,000
= 10,000
01 AP 2t 2| H| 20,000 0 20,000
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H3r
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10,000
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SN BAVE D
dM: =2 BAY=ZAHHIA 2S5
el el o AR Y CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
J| 154,965
O2da ZHgi A & e X3 96,200
J| 74,000
< 22,200
ZEE KRAUS A X 5,700 5,700 0
308 XtXIEHH SOl A 5,700 5,700 0
01 AXHHILEES 5,700 5,700 0
o=ty s HMEXZA XE 3,000
OHIEC2MES SAYUMSZA X 2,700
R R g el 78,750 78,750 0
| 78,750
308 XXM SOl A 78,750 78,750 0
| 78,750
01 IXNHHBNEES 78,750 78,750 0
Oozzd 23d 5224 78,750
J| 78,750
AE2EY SBelgs =R 49,000 50,000 A 1,000
J| 49,000
307 21201 A 49,000 50,000 A 1,000
J| 49,000
02 IS AMHEL 49,000 50,000 A 1,000
OdEZgY exdelgs 5K 49,000
J| 49,000
2y olg2e(ZEYERIILR) 59,364 56,066 3,298
= 29,682
< 29,682
201 L2l 59,364 56,066 3,298
= 29,682
< 29,682
01 At 2t 2l 59,364 56,066 3,298
OoZgg&el FMTP I 59,364
= 29,682
< 29,682
HLEST s 15,069,444 14,265,034 804,410
= 337,650
J| 11,223,640
< 3,508, 154
AL E2E S0 Y2t 224,800 230,000 A5,200
J| 118,000
< 106,800
201 L2l 36,000 30,000 6,000
J| 18,000
< 18,000
01 At 22l 36,000 30,000 6,000




SN BAE Y
g 2 22 2AASMHHA F=
Sl AYSTL 3 CER-ED
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
OULEXAZA 8228 2y 36,000
Jl 18,000
< 18,000
307 212tol & 168,000 200,000 232,000
Jl 84,000
£ 84,000
05 22t & =3 168,000 0 168,000
Odcgade TacIMNE 29 168,000
Jl 84,000
= 84,000
308 XXM SO0l ™ 20,800 0 20,800
Il 16,000
= 4,800
01 XM BaE2ES 20,800 0 20,800
Oacgae g 82A8 N2 20,800
Jl 16,000
S 4,800
dXRIZ ALY 477,100 750,230 A273,130
Jl 367,000
= 110,100
308 XXM SO0l ™ 477,100 750,230 A273,130
Jl 367,000
= 110,100
01 UIXSHHBLEES 477,100 750,230 A273,130
Og ZJIHETAL 477,100
Il 367,000
T 110,100
ST ol2Hl N 1,467,113 1,789,502 A 322,389
Il 1,128,549
< 338,564
308 XXM SO0I™ 1,467,113 1,789,502 N 322,389
2l 1,128,549
< 338,564
01 HAHHBEES 1,467,113 1,789,502 N 322,389
Ogex 2=zl XA 1,345,700
Jl 1,035,154
= 310,546
Ot et it 22l 121,413
Il 93,395
S 28,018
SF0AHI AL 83,528 91,934 28,406
Jl 77,700
S 5,828
308 XXM S0l H 83,528 91,934 28,406
Jl| 77,700
S 5,828




2N

M A g2 PAARMHA 7E
Sl ALZT L3 (e &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

01 IXHHNIMNEXS 83,528 91,934 N 8,406
Ogxw0ot AZZ& 83,528
J| 77,700
= 5,828

MOHEED| ABRS XN SHHBEAEX 48,658 48,165 493
Dl 48,658

308 XX SHHSOIH 48,658 48,165 493
Dl 48,658

01 AXHNBMNEXZ 48,658 48,165 493
OMMTE) ABXE L B2 48,658
Dl 48,658

SIAUXLEEEX 2 SHl A& 1,450,384 1,508,544 A 58,160
Jl 1,208,653
= 241,731

308 AXISHXSO0IH 1,450,384 1,508,544 A 58,160
Jl 1,208,653
= 241,731

01 AXHNBMNEXTZ 1,450,384 1,508,544 A 58,160
Os|AHHRALEEI o= H K& 1,450,384
J| 1,208,653
== 241,731

NEAS P EAZAIZAMARS 357,875 357,898 N 23
Dl 357,875

308 XX SHAMSOIA 357,875 357,898 N 23
Jl 357,875

01 AXHHNIMNEXTS 357,875 357,898 N 23
OX = AZ ZAZAIAFS 357,875
Dl 357,875

Lol A 2te 690, 168 758,387 AN68,219
J| 575,140
o= 115,028

308 XX SHAHSOIH 690, 168 758,387 N68,219
J| 575,140
& 115,028

01 AXHNBNMNEXZ 690, 168 758,387 N68,219
OLQIoXIAY XI& 659,328
Dl 549,440
& 109,888
OEQIoX AFZE 22l 30,840
J| 25,700
& 5,140

oo AN HEH &H 269,000 298,000 A 29,000
= 134,500
== 134,500

307 212t0| & 269,000 298,000 A 29,000




2N
X ZH -
L= B

el

SAHID
g2 2ASHUA 2E
AYZHY 5

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 134,500
< 134,500
02 LB AAFEX 269,000 298,000 229,000
Oz dyH XA 269,000
= 134,500
S 134,500
HsaHLQ Y2 AL XS 43,560 43,560 0
308 XXl EHH SOl A 43,560 43,560 0
01 HXNHHNBHEES 43,560 43,560 0
ONss8HL Uiz 43,560
dolgda HAKA 28,200 26,160 2,040
308 XXM S0 A 28,200 26,160 2,040
01 AXNSHHBLEES 28,200 26,160 2,040
OgEAEEHN 28,200
SHEWHE H2ZTXNA 90,182 67,933 22,249
308 XXM S0l A 90,182 67,933 22,249
01 IXNHHBNEES 90,182 67,933 22,249
OsHENWY d2&dd N& 90,182
dEgde AN 18,479 14,201 4,278
308 XtXIEHHSOIA 18,479 14,201 4,278
01 AXNHHMEBAMNEES 18,479 14,201 4,278
odgaeg & 18,479
=223 X ZEALY 215,512 300, 471 A 84,959
= 203,150
< 12,362
307 gl2tol & 38,300 37,300 1,000
= 38,300
05 BIZHRIE& 3 38,300 37,300 1,000
Oz ==& 2 A& =2 38,300
= 38,300
308 XXM SOIA 177,212 263,171 A 85,959
= 164,850
< 12,362
01 IXNHHBANEES 177,212 263,171 A 85,959
O2z2s0 ==2X &l 177,212
= 164,850
< 12,362
NEAtsl Sg AL SIAY 9,604,885 7,764,711 1,840,174
| 7,342,065
< 2,262,820
101 1A bl 24,000 24,000 0
| 12,000




2A: BAMI Y
MY & g2 PAARNUIA 2E
Sl AYSTL 3 CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 12,000
04 JI2ZtHZ22 a2+ 24,000 24,000 0
OgAd 2| AtY 21yl 24,000
Jl 12,000
< 12,000
201 £B-2%H| 240 480 A 240
J| 120
< 120
01 At 22/l 240 480 A 240
OLEHIANGEEZHE Ns 240
J| 120
< 120
307 glz2+ol & 147,760 207,520 A 59,760
J| 73,880
< 73,880
05 RIZt2IE = 147,760 0 147,760
OSEAHLSIALXAE 2 147,760
J| 73,880
< 73,880
308 MtXIEHMSOIH 9,432,885 7,532,711 1,900,174
J| 7,256,065
< 2,176,820
01 HXNHHBHELS 9,432,885 7,532,711 1,900,174
OXSAtel S& ALSTAY 7,480,182
J| 5,753,986
< 1,726,196
OXYGAMEE4 SHIFMUIA(SIHSAX A
glA) 1,952,703
J| 1,502,079
< 450,624
HalZ e 21,179,510 18,259,249 2,920,261
= 12,500,651
J| 2,904,950
< 5,773,909
FAEHMO (MRS S 29 24,700 24,700 0
201 Zet24E] 24,700 24,700 0
01 At 2t 2l 24,700 24,700 0
OFMUBAYYRIAS S 29 24,700
NAFMAZSEEH 2E XA 1,709,000 1,664,110 44,890
J| 1,280,000
< 429,000
308 XXIEHHSOIA 1,709,000 1,664,110 44,890
J| 1,280,000
= 429,000
01 AXHHBIYEES 1,709,000 1,664,110 44,890




2N

MY & g2 PAARNUIA 2E
& FasgAze (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEEE FAALSIHH 2 (3Hl) 1,664,000
J| 1,280,000
< 384,000
OERZF EHE FUALSTEH 29 45,000
NAZAMEHAAMS X3 324,690 223,000 101,690
308 XX EHSOIA 324,690 223,000 101,690
01 HIXNHHNBHNEES 324,690 223,000 101,690
OXNGHAMEAHAY X 324,690
OtsdEAY JAUBAAY X 388,000 320,500 67,500
J| 250,000
< 138,000
308 XXM SOl A 388,000 320,500 67,500
J| 250,000
< 138,000
01 AXHHBILEES 388,000 320,500 67,500
OOts&Ea24d FABAMY X (24l) 325,000
J| 250,000
< 75,000
OOtsSE2HE HAEHAY X2 (XHA) 15,000
OotssAY Mgz 08 2H (XHA) 48,000
S SENIHH 2N 183,365 175,630 7,735
J| 141,050
< 42,315
308 XX EHH SOl A 183,365 175,630 7,735
J| 141,050
< 42,315
01 X HHILEES 183,365 175,630 7,735
SS2ASHNHH 2SN 183,365
J| 141,050
< 42,315
FAURAAE 2EXE 13,333,040 10,654,162 2,678,878
= 10,980,150
< 2,352,890
308 AHAIEHHSOIA 13,333,040 10,654,162 2,678,878
= 10,980,150
< 2,352,890
01 HIXNHHNBMNEELES 13,333,040 10,654, 162 2,678,878
OFUQILANE 2IXH 13,333,040
= 10,980, 150
= 2,352,890
AMZIEHAE 2GR 458,556 427,493 31,063
308 XXM SOl A 458,556 427,493 31,063
01 IXNHHBNEES 458,556 427,493 31,063
OMSISAHAE 2GS XA (XL012) 458,556




2N

M A g2 PAARMHA 7E
el MAPAZR (S5 &)
SA - BB B () - MM - BES Ol &t o San HmEET
FAMEAHANE K& 37,500 177,156 A 139,656
307 glz2tol & 30,000 30,000 0
02 It M AHE X 30,000 30,000 0
OZAZOHAAAINL ALY 30,000
308 XtXIEHHSOIA 7,500 147,156 A 139,656
01 AXHHBIYEES 7,500 147,156 A 139,656
OFUEHANE AR HHEH 7,500
HAMEAHANE JISsEZAEA 1,350,752 1,170,739 180,013
= 900,501
< 450,251
403 UHXISHHEX201 & 1,350,752 1,170,739 180,013
= 900,501
< 450,251
01 X HHMA=ZLE X 1,350,752 1,170,739 180,013
OFUEBAANE JIsE22 K& 1,350,752
= 900,501
= 450,251
XIOH &t X 2el X & 1,265,578 1,404,860 N 139,282
= 620,000
< 645,578
307 glz2+ol & 600,000 600,000 0
= 420,000
< 180,000
05 RIZt2E = 600,000 0 600,000
OZIAXMEH 22HI 600,000
= 420,000
< 180,000
308 XtXIEHH SOl A 465,578 327,860 137,718
01 AXHHILEES 465,578 327,860 137,718
OXIOHE At 22| At dl K& 213,578
OMIIXIH -l =285 A 29 228,000
OMItXIOH &R JObAHMXIERD] B3 24,000
403 MHXSHHSA=0l& 200,000 0 200,000
= 200,000
01 HXEHMA=E X 200,000 0 200,000
O3XMEE JIsEL(AZE) 200,000
= 200,000
Xoh&agdy X 1,050,400 1,069,033 A 18,633
J| 808,000
< 242,400
308 XXM SO0 A 1,050,400 1,069,033 A 18,633
J| 808,000
< 242,400
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